
Testing for Condition of Container - Questions
1
Procedures and requirements for condition of food container examinations are 
found in:

(a) U.S. Standards for Condition of Food Containers

(b) AMS Handbook for Inspection of the Condition of Food Containers

(c) Visual Aids for Inspection of Containers, as appropriate

(d) All of the above
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A critical defect is: _____________.

(a) incorrect packaging or labeling of product.

(b) a health or safety risk to consumers.

(c) a leaking package

(d) None of the above.
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A major defect is: _____________.

(a) incorrect packaging or labeling of product.


(b) a health or safety risk to consumers.

(c) a leaking package

(d) None of the above.
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A minor defect is ______________.

(a) incorrect packaging or labeling of product.

(b) a health or safety risk to consumers.

(c) a leaking package

(d) None of the above.
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For a lot of 1680 - 24lb cases of dry beans and each case contains 12 - 2lb poly bags determine the number of primary containers in the lot.

(a) 1,680

(b) 42,000

(c) 20,160

(d) 40,320
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A defective container that falls outside the predetermined sampling pattern should be ___________.

(a) Counted as a defect.

(b) Not counted as a defect.

(c) Suggest that it be removed from the lot

(d) (b) and (c)
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When the number of major defects found equals or exceeds the applicable rejection number (Re) for the major defects the sampler should _________________.

(a) Reject the lot.

(b) Expand the sample size.

(c) Accept the lot

(d) None of the above.
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Reduced inspection plans shall be used except when the history of inspection permits normal inspection or requires tightened inspection.

(a) True



(b) False
9
A secondary container is ____________________.

(a) the immediate container in which the product is packaged.

(b) a collection of filled food containers of the same size, type, and style.

(c) The container in which one or more primary containers are packed.

(d) All of the above.
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Acceptable Quality Level (AQL) is the maximum number of defects per hundred units which is acceptable as a process average.

(a) True



(b) False
